= =LA O
k=1 Jof froy Fa =1 -||
A&T 5 240 AFO Hol 34 L W, T ESES | 5. I o] BAHL o2 BAW AAPL 77
Tshof 2t O =2 olo] ZoyA, n WA A2 AZHY-E THE=T|
g 4ol Age DT o g g
57k 4570 9 AR ] £ B Fatole
o 7714 o' Apvt T2 Ao & o, I 1A 2 A 3 A
A A 22 5o AW 2RE B Folt (34 14 -
5x%)m 2kl Qe F2 X 2] @ X Fof xHel| g
A E=A] Foefet.
6. ol v SHySol T4 1447 & Ho] Liro] F7]
T gt G Aol Solrb gAle] 471 A a4
- ZHc}t 7 o] Aty oF 3t A Eolrl= Mo
O|ZPAA 22 4 qax+b =0 2] 57} 2, 3 o2kl g} j:]_:}' | Aekar g wff, gF gl A e 549
o, ba? —ax +6 =0 9] F L2 g} F27 e
- 5 ~ 5 ® 64 @ 94 ® 123
®%L:6’5HL -1 @‘%:76,%:1
o6 6 @ 163 ® 244
OF:— ,F:-1 @ .- F:-1
5 5
6
@ ?:}- : —g 7_]]:]" 01
7. oA 22 —5r+6 =09 T F A2 Zo|
202 —ax+5a+4 =02 <L 0, a & AF 72?
O|ZPYFA 22 —10x+ k=09 F 2 H[7F2:3 Y
o, A<= k9] 32 FotelEt @® 9 @13 @16 @18 G2
8. n A9l el At L= oot gt ozt
Ao] 35 72l thtge @ )] Fotolat




10.

[*]

ZFAEA (24 1)(22 —5) =02
o &2 18w q, b, ¢ 9 F2?

®a=-2,b=-3,¢c=-5
@ a=2b=-3, c=-5
®a=-2,b=3,¢c=5
@ a=2,b=3,c=5

®a=-2b=3 c=-5

e 133 Zo] 7k= 8m

ar?+br+c=0

_--8m ~_

AR 6m  ANAE B

&Fo] ol YH|7h 2 m

a4
3

= s

o]—I;"— 7 El_ \\

S U] o] golzt \
24m? & of, z 9] FS F
shofet,

11. o]z

12.

O|ZFAAl 42 422 —1 =0 2
o, o3 + a?B + aB? +

= e}
"I‘T—_LE

5ol ge 7

a, § 21
T-stoi et

ek

ok

13.

14.

15.

ohE ¥ gol o ‘o '
o] o7t 48 cm? )1 AFZY ’y ry

g gl dAE A ’
ol o, FAE A7) A (oot

I A ',’

of golg Fatelar (&,
v > 5013 B9l ) 20em-

- 1 2 1 =
ORI a? 4 Zg — = =0 9 F 2] e

10 ) 2

® -5 @ -4 ® -1 @ 4 ® 5
Aol 10m o] felo] Qs ABO] SAelA 2
% o0m 2 w2 92 97 9 o 2 79 Holvt
h= (10— 2% + 202) m 23 & 1), Fo] ThA] 2
4o Wold uhA) Ao ARk Fatelet (9,

B9l e




